PANDUIT

Top Trough with Waterfall for 4-Post Rack

Part Numbers: R4PWF

INSTRUCTIONS CM468C

© Panduit Corp. 2010

R4PWF Components

Top Trough with Waterfall % (1) #8-32 Self-

Drilling Screw

Left Mounting Bracket OD (6) 1/4-20

&) Carriage
% O Bolts
® ® ® (6) 1/4-20 Serrated

® ) @ Flange Nuts
Right Mounting Bracket

Note: This top trough with waterfall is designed to fit on all R4P style
4-Post Racks equipped with any vertical manager.

Step 1: Loosen the (4) bolts that attach the top bracket to the 4-Post
Rack (DO NOT REMOVE).

Top Bracket
Yo
©
Yo

Top Bracket Bolts with Washers (included on Rack)

Step 2: Install the mounting brackets in front of the top bracket
using the orientation shown (between the washer and the bracket).
Note: The left mounting bracket is identified by the number “1”
embossed on its front face. The right mounting bracket is identified
by the number “2” embossed on its front face.

Right Mounting
Bracket

Left Mounting

Bolts and Washers
Bracket

Step 3: Retighten bolts to complete the installation of the mounting
brackets to the rack.

-

For Instructions in Local Languages

® E-mail:
and Technical Support: n “ IT cs@panduit.com
www.panduit.com/resources/install_maintain.asp Fax:
www.panduit.com (708) 444-6993

Page 1 of 2




PANDUIT

Top Trough with Waterfall for 4 Post Rack

INSTRUCTIONS CM468C

© Panduit Corp. 2010

Step5a: Place top trough on top of 4-Post Rack in such a manner that
the waterfalls (side flanges) fit into the inside front channels of the
attached vertical managers

Inside front channels of
Vertical Managers

Waterfalls (Side Flanges)

Step 5b: Align the top trough traversely along the top of the rack so
that the front edge of the trough will not interfere with the operation of
the vertical manager doors. A good rule of thumb is mounting the
trough such that the front edge of the trough lies just behind the finger
flags of the manager.

Front edge of trough

Back edge of trough
Finger flags

One manager mounting bracket was removed for clarity.

Step 6: First, fasten top trough to rack using (2) 1/4-20 Bolts and (2)
1/4-20 Nuts with the rack holes located under the rack mounting slots
of the trough (shown below). Second, fasten trough to left and right
mounting brackets with the bracket mounting holes located under the
bracket mounting slots on the trough (shown below). Either (2) or (4)
each of 1/4-20 Bolts and Nuts is required depending on the front-to-
back orientation of the top trough.

Bolts Bracket Mounting Slots

Bonus slots located in the top trough allow for continued accessi-
bility to the J-Bolt holes located on top of the rack. The amount of
holes available will depend on the orientation with which the top
trough is mounted. #8-32 Self-Drilling Screw is to be installed in
ground screw hole and drilled into rack after trough is installed.

Access to J-Bolt holes
on top of rack

Ground Screw Bonus slots

Hole

TEE
UU@

— —D 01
(:(I]ZED

DO CIr o1
——H oo
— — 0O

) Top View of Trough
Bracket Mounting Slots Rack Mounting Slots
For Instructions in Local Languages ® E-mail:
and Technical Support: n “I I cs@panduit.com
www.panduit.com/resources/install_maintain.asp Fax:

www.panduit.com

(708) 444-6993

Page 2 of 2






